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V3

V1 = 1J18b 

V2 = 1J18b

V3 = 1J29b

VR1

250k

Lin

R4

100K

R1

33K

R2

220K

R3

22K

R5

100K

R6

470K

R7

15K

R9

22K R10

100K

R11

33K

VR2

500K

Lin

C1 

220p

C2

820p

C3

47n

C5

220p

C6

15n

C7

C9

33pF

C14

15n

C12

10n
C13

10u

L1

VC1

200p

VC2

60p

ANT

T1 SPKR

+65V

0V

+1.2V

M0DGQ

330p

T1 = 100V

Line Transformer

Use 0.25W tap

C11

47n

21 21

1 2 3

456

SPOT ON SIDE OF 

GLASS

1J18B

1 = HTR

2 = HTR GND

3 = NC

4 = NC

5 = G2

6 = G1

ANODE = WIRE 

TOP OF 

ENVELOPE

VR1 = GAIN VR2 = REACTION

1J29B

C8

15n

C10

150p

R8

470K

C4

15n RFC1

100uH

SPOT

1

6

5
4

3

2

7

1 = HTR centre tap 

( htr + )

2 = G3

3 = G2

4 = HTR ( GND )

5 = SCREEN

6 = HTR ( GND )

ANODE = WIRE 

TOP OF 

ENVELOPE

7 = G1

Coil windings

730 1200kHZ = 

100t, tap 25t from 

cold end

1.6 – 3MHz = 45t, 

tap 10t from cold 

end

3 – 5MHz = 24t, 

tap 6t from cold 

end

4.5 – 8MHz = 12t, 

tap 5t from cold 

end


